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~ Prénom: _
5x10=____ 50x10=_____ 5 x 60 =
12x10=___ 12 x 100 = B8 Sama : :
5 x 100 = 50 x 100 = Belta: Le premier, 1 min grand
:x:oo?o Bt 23 x1000 = 56x1000= R - maximumlll Mais certains
30 L :3:;;;91_4_—/”' g ileg 2-;:,(12;:__ peuvent commencer avec
14 x 100 = —14 %200 = 14 x 300 = 47x100=: 40s.
2oocl000=__ - 20 x 1000 = 2x1000-= 100x1000=__
Qx10= 54 x10 = 9x1000= 0610 = e :
32 x 100 = 301 x 100 = 32 x1000 = 2x100= __ 5x10=_K0)
12x10=120
| TOTAL: /10 TOTAL: /10 | TOTAL: /10 TOTAL: /10 5x100 = 500
5 x 1000= 5 x =5 000 50 x =5 000 42x____ 42000 2x1000=-2000
Bxit0s . o BT T - R R 200 x =2 000 6x10=_60
5 x 1000 = 5 x = 50 50 x = 50 25 x =250 SA =900
2x____ =200 20 x = 200 2 x = 200 56x____ =560 14 x 100 = 1400
" = 120 6 x = 360 6 x = 3600 12 x = 240 25 x 1000 = 25000
30x90= 30 x -3000 | 3x = 3000 8 x = 1600 9x10=_20,
14 x 10 = 14 x - 280 7 x =700 63 x = 6 300 32x100= 3200
40 x 1 000 = 25 x = 250 25 x = 2500 9% x______=960
900 x 10 = 9 x =900 90!___:90‘0 3x =900
75X100:__.__ 32 x - 960 23)(____: 460 3X____,_=1200
TOTAL: /10 TOTAL: /10 TOTAL: /10 TOTAL: /10




